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Topic:­ Physics
1)

Question Stimulus :­

The ____ is in the centre of the solar system. /  ____सौर प숝Āरवार का कᘮĀ帳Ā ह|ै

Sun / सयू㸭Ā

Venus / वीनस

Earth / प쒒ृĀी

Jupiter / बहृ瘸Ȁित

Correct Answer :­Sun / सयू㸭Ā 

2)

Question Stimulus :­

A man travels a distance of 2.5 km towards East, then 4 km towards North and finally 5.5km towards East. The total
distance covered by the man is / एक आदमी पवू㸭Ā की ओर 2.5 िकमी की दूरी तय करता ह,ै िफर उ窅Āर की ओर 4 िकमी
और अतं मᘮĀ पवू㸭Ā की ओर 5.5 िकमी| आदमी 꺢Āारा तय की गई कुल दूरी है

6.5 m

8.0 m

9.5 m

12.0 m

Correct Answer :­12.0 m 

3)

Question Stimulus :­

A lady goes to a shop which is 2 km from her house. On reaching the shop she finds it locked and returns back home.
Her final displacement would be / एक मिहला एक दकुान पर जाती ह ैजो उसके घर स े2 िकमी पर ह|ै दकुान पर पĀचँने
पर वह उसमᘮĀ ताला लगा दखेकर वापस घर लौट जाती ह|ै उसका अिंतम िव슄Ȁथापन होगा

Zero



12 km

18 km

36 km

Correct Answer :­Zero 

4)

Question Stimulus :­

A man hears the thunder 5 seconds a├er the lightning is seen. How far is the lightning from the man if the speed of
sound in air is 330m/s? / एक आदमी को तिड़त ्िदखन ेके 5 सके桿Ā पȀात गज㸭Āन सनुाई दतेी ह|ै तिड़त ्आदमी से
िकतनी दूरी पर ह ैयिद हवा मᘮĀ 檦Āिन का वगे 330 मी/स ेह?ै

66 m

16.5 m

165 m

1650 m

Correct Answer :­1650 m 

5)

Question Stimulus :­

A person stands in front of two plane mirrors placed symmetrically to one another inclined at 600.The number of
images that will be formed is / एक आदमी दो समतल दप㸭Āणो ंके सामन ेखड़ा ह ैजो एक दूसरे के समिमतत: रख ेह阮Ā और
600 पर आनत ह阮Ā| बन े䐴Āितिबबंो ंकी स졋ंĀा होगी

8 images / 8 䐴Āितिबबं

7 images / 7 䐴Āितिबबं

5 images / 5 䐴Āितिबबं

2 images / 2 䐴Āितिबबं

Correct Answer :­5 images / 5 䐴Āितिबबं 

6)

Question Stimulus :­

A boy stands in front of a mirror at different distances; still his image always appears erect. The mirror must be a
/ एक लड़का एक दप㸭Āण के सामन ेिविभ㚺Ā दू숝Āरयो ंपर खड़ा होता ह;ै तब भी 䐴Āितिबबं हमशेा सीधा िदखाई पड़ता ह ै|



दप㸭Āण होगा

Plane mirror / समतल दप㸭Āण

Concave mirror / अवतल दप㸭Āण

Convex mirror / उ暠  तल दप㸭Āण

Plane or Convex mirror / समतल अथवा उ暠  तल दप㸭Āण

Correct Answer :­Plane or Convex mirror / समतल अथवा उ暠  तल दप㸭Āण 

7)

Question Stimulus :­

Light is a form of / 䐴Āकाश इसका 搰Āप है

Magnetic waves / चुंबकीय तरंगे

Electromagnetic waves / िवद्युत­चुंबकीय तरंगे

Radio waves / रेिडयो तरंगे

Mechanical waves / यािंĀक तरंगे

Correct Answer :­Electromagnetic waves / िवद्युत­चुंबकीय तरंग े

8)

Question Stimulus :­

Speed of light in Vacuum is / िनवा㸭Āत मᘮĀ 䐴Āकाश का वगे होता है

3x108 m/s

3x107 m/s

3x106 m/s

3x105 m/s

Correct Answer :­3x108 m/s 

9)

Question Stimulus :­

Which among the following is a contact force? / िन쫳Ā मᘮĀ स ेकौन सा सपंक㸭Ā बल ह?ै



Magnetic force / चुंबकीय बल

Electrostatic force / Ā슄Ȁथर वदै्युत बल

Frictional force / घष쨭Ā बल

Gravitational force / ग㨰ुĀĀीय बल

Correct Answer :­Frictional force / घष쨭Ā बल 

10)

Question Stimulus :­

For Wheat stone’s bridge, _________. / 䡊ȀीटȀोन सते ुके िलए, ________.

it is necessary that R1 = R2 and R3 = R4 / यह आव㈢Ȁक ह ैिक R1 = R2 एव ंR3 = R4

it is necessary that the current in R1 should be equal to current in R3 / यह आव㈢Ȁक ह ैिक R1 की िवद्युत्
धारा R3 की िवद्युत ्धारा के समान हो

it is not necessary that the current in R1 should be equal to current in R3 / यह आव㈢Ȁक नही ंह ैिक R1 की
िवद्युत ्धारा R3 की िवद्युत ्धारा के समान हो

the current in R2 should be the same that in R4 / R2 की िवद्युत ्धारा R4 की िवद्युत ्धारा के समान होनी
चािहए

Correct Answer :­it is not necessary that the current in R1 should be equal to current in R3 / यह आव㈢Ȁक
नही ंह ैिक R1 की िवद्युत ्धारा R3 की िवद्युत ्धारा के समान हो 

11)

Question Stimulus :­

Which one of the following graphs cannot represent a possible real motion? /
िन쫳Ā मᘮĀ स ेकौन सा आरेख सभंव वा捀 िवक गित नही ंदशा㸭Ā सकता? (t = time; v = velocity; a = acceleration) / (t
=समय; v =वगे; a =Āरण)



Correct Answer :­  

12)

Question Stimulus :­

If the two opposing forces act on an object, the net force acĕng on it is the / यिद एक व捀  ुपर दो िवरोधी बल काय㸭Ā
करत ेह阮Ā, तो उस पर काय㸭Āकारी नटे बल होता है

Magnitude between two forces / दो बलो ंके बीच प숝Āरमाण



Difference between two forces / दो बलो ंके बीच अतंर

Mulĕplicaĕon between two forces / दो बलो ंके बीच गणुक

Proporĕonal between two forces / दो बलो ंके बीच समानपुाती

Correct Answer :­Difference between two forces / दो बलो ंके बीच अतंर 

13)

Question Stimulus :­

If we double the radius of current carrying coil keeping the current unchanged, what happens to the magnetic
field at centre? / यिद हम िवद्युत ्धारा वहन करन ेवाल ेकुंडली की िĀ쩤Āा, िवद्युत ्धारा िबना बदल ेदोगनुी कर दᘮĀ, कᘮĀ帳Ā
मᘮĀ उपĀ슄Ȁथत चुĀकीय ꉈĀेĀ पर ᱆Āा 䐴Āभाव पड़गेा?

become four times / चार गनुा हो जाएगा

doubled / दोगनुा

remains unchanged / अप숝Āरवित㸭Āत रहगेा

halved / आधा हो जाएगा

Correct Answer :­halved / आधा हो जाएगा 

14)

Question Stimulus :­

Shoulder bags & backpacks have wide padded straps so that / कंध ेएव ंपीठ पर डाल ेजान ेवाल ेबगै के चौड़ ेग亗Āदेार प㙧Āे
होत ेह阮Ā तािक

Weight of the bag falls over a large area producing more pressure / बगै का भार अिधक दाब उ�㚺Ā करन ेवाले
एक बड़ ेꉈĀेĀ पर पड़े

Weight of the bag falls over a small area producing less pressure / बगै का भार कम दाब उ�㚺Ā करन ेवाल ेएक
छोट ेꉈĀेĀ पर पड़े

Weight of the bag falls over a large area producing less pressure / बगै का भार कम दाब उ�㚺Ā करन ेवाल ेएक
बड़ ेꉈĀेĀ पर पड़े

Weight of the bag falls over a small area producing more pressure / बगै का भार अिधक दाब उ�㚺Ā करन ेवाले
एक छोट ेꉈĀेĀ पर पड़े

Correct Answer :­Weight of the bag falls over a large area producing less pressure / बगै का भार कम दाब
उ�㚺Ā करन ेवाल ेएक बड़ ेꉈĀेĀ पर पड़ े

15)



Question Stimulus :­

Gravity is less in the equator than at the poles because / ग搰ुĀĀ ꈳĀवुो ंकी अपꉈेĀा भमू㲥Āरेखा पर कम होता है
᱆Āोिंक

poles receive less sunlight than the equator. / भमू㲥Āरेखा की अपꉈेĀा ꈳĀवुो ंको कम रोशनी िमलती है

Earth’s magnetism is stronger at the poles than at the equator. / प쒒ृĀी का चुंबकĀ ꈳĀवुो ंपर भमू㲥Āरेखा
की अपꉈेĀा 䐴Āबल होता है

poles are covered in thick ice while the equator is not. / ꈳĀवु मोटी बफ㸭Ā स ेढके होत ेह阮Ā जबिक भमू㲥Āरेखा
नहीं

the speed of rotation of Earth in the equator is more than at the poles. / ꈳĀवुो ंकी अपꉈेĀा भमू㲥Āरेखा पर
प쒒ृĀी के घणू㸭Āन का वगे 쩤Āादा होता है

Correct Answer :­the speed of rotation of Earth in the equator is more than at the poles. / ꈳĀवुो ंकी
अपꉈेĀा भमू㲥Āरेखा पर प쒒ृĀी के घणू㸭Āन का वगे 쩤Āादा होता ह ै

16)

Question Stimulus :­

Arrange the following planets in the decreasing order of natural satellites they possess: Neptune, Mars,
Venus, Saturn / िन쫳Ā 츱Āहो ंको उनके 䐴Āाकृितक उप츱Āहो ंके घटत े樱Āम मᘮĀ 帘ȀवĀ슄Ȁथत करᘮĀ: न晳ेȀꑩĀनू, मगंल, वीनस, शिन

Mars, Saturn, Venus, Neptune / मगंल, शिन, वीनस, न晳ेȀꑩĀनू

Saturn, Neptune, Mars, Venus / शिन, न晳ेȀꑩĀनू, मगंल, वीनस

Neptune, Saturn, Venus, Mars / न晳ेȀꑩĀनू, शिन, वीनस,मगंल

Venus, Mars, Neptune, Saturn / वीनस, मगंल,न晳ेȀꑩĀनू,शिन

Correct Answer :­Saturn, Neptune, Mars, Venus / शिन, न晳ेȀꑩĀनू, मगंल, वीनस 

17)

Question Stimulus :­

Of the following groups, the one containing only conductors is  / िन쫳Ā समहूो ंमᘮĀ स,े वह
एक िजसमᘮĀ केवल चालक ह阮Ā

Copper, silver, mercury / कॉपर, िस선 र, पारद

Graphite, carbon, ebonite / 츱Āफैाइट, काब㸭Āन, एबोनाइट

Milk, Honey, disĕlled water / दूध, शहद, आसतु जल

Lemon juice, causĕc soda, sugar soluĕon / नीबं ूरस, कॉĀȀक सोडा, चीनी िवलय



Correct Answer :­Copper, silver, mercury / कॉपर, िस선 र, पारद 

18)

Question Stimulus :­

In full wave rectifier operating at 50 Hz, the fundamental frequency in ripples would be: / पणू㸭Ā तरंग मᘮĀ िद訪Ȁकारी
50 हट㸭Āज पर सचंािलत होता ह,ै ऊिम㸭Āका मᘮĀ मलू आवृĀ暠  त होगी :

100 Hz

75 Hz

50 Hz

25 Hz

Correct Answer :­100 Hz 

19)

Question Stimulus :­

Two wires of identical lengths, diameters and of the same material are stretched under tensions in the ratio 1 : 9
on a sonometer box. The ratio of their fundamental frequencies is / दो समान लĀाई, 帘Ȁास और समान 帳Ā帘Ȁ की
तारो ंको तनाव मᘮĀ 1 : 9 अनपुात मᘮĀ एक सोनोमीटर ब桉Ā ेमᘮĀ खीचंा जाता ह ै| उनकी मलू आविृ窅Āयो ंका अनपुात है

1 : 9

9 : 1

1 : 3

3 : 1

Correct Answer :­1 : 3 

20)

Question Stimulus :­

The power rating of a lamp is given as 12 V and 2 A. The power of the lamp is /
एक ल飵ैĀ का शĀ灣Ȁ त सीमाकं 12 V और 2 A िदया गया ह।ै ल飵ैĀ की शĀ칀Ā है

24 W

6 W

10 W



14 W

Correct Answer :­24 W 

21)

Question Stimulus :­

Two springs with spring constant 8000 Nm­1 and 6000 Nm­1 are connected first
in series and then in parallel and made to oscillate with the same load
attached.  The periods of oscillations, Ts : Tp will be in the ratio (approximately)
/ दो Ā∺Ȁगं िजनका कमानी Ā슄Ȁथराकं 8000 Nm­1 और 6000 Nm­1 ह,ै को पहल ेĀणेी मᘮĀ जोड़ा जाता ह ैऔर िफर
समातंर जोड़ा जाता ह ैएव ंसमान भार स ेजोड़कर दोलन कराया जाता ह|ै दोलन के आवत砯Ā,Ts : Tp का अनपुात होगा
(सि㚺Āकटत:)'

4 : 1

1 : 2

2 : 1

1 : 4

Correct Answer :­2 : 1 

22)

Question Stimulus :­

Acceleration of a charged particle of charge q and mass m moving in a uniform electric field of strength E is: / E
ꉈĀमता वाल ेएकसमान िवद्युत ्ꉈĀेĀ मᘮĀ 帳Ā帘Ȁमान m एव ंआवशे q स ेआविेशत एक कण का Āरण :

q/mE

qE/m

m/qE

mqE



Correct Answer :­qE/m 

23)

Question Stimulus :­

Windmills are used for / पवनचĀ︼Āया ँ䐴Āयोग की जाती ह阮Ā

pumping water / जल पपंन के िलये

generating electricity / िवद्युत जनन के िलए

aerating ponds / तालाबो ंको हवादार करन ेके िलये

all the purposes shown above / उपरो칀Ā िदखाय ेगय ेसभी 䐴Āयोजनो ंके िलये

Correct Answer :­all the purposes shown above / उपरो칀Ā िदखाय ेगय ेसभी 䐴Āयोजनो ंके िलय े

24)

Question Stimulus :­

Consider a rectangular slab of length L and area of cross section A. A current I is passed through it. If the length
is doubled, the potential drop across the end faces : / मान लीिजए िक एक आयताकार िस騎Ȁी की लĀाई L एव ंꉈĀेĀ
अन䐴ुĀ슄Ȁथ काट ह।ै इसके मा㲥Āम स ेिवद्युत ्धारा I गजुारा जाता ह।ै यिद लĀाई को दोगनुा कर िदया जाए, तो उस ओर
अिंतम सतह पर पĀचँन ेवाला िवभव पात :

becomes half of the initial value / 䐴Āारंिभक मान का आधा हो जाएगा

becomes one­fourth of the initial value / 䐴Āारंिभक मान का एक­चौथाई हो जाएगा

becomes double the initial value / 䐴Āारंिभक मान का दोगनुा हो जाएगा

remains same / समान रहगेा

Correct Answer :­becomes double the initial value / 䐴Āारंिभक मान का दोगनुा हो जाएगा 

25)

Question Stimulus :­

The distance between two consecutive points in the same phase is known as / समान  䐴Āाव슄Ȁथा के दो 樱Āमागत
िबदंओु ंके बीच की दूरी कहलाती है

Wave period / तरंग काल

Amplitude / आयाम

Wavelength / तरंग दूरी



Wave frequency / तरंग आविृ窅Ā

Correct Answer :­Wavelength / तरंग दूरी 

26)

Question Stimulus :­

Magnifying power of a simple microscope of focal length 12.0 cm for a person whose least distance of
distinct vision is 24 cm is / ऐस ेइसंान के िलए िजसके स瘸ुȀ预Ȁ ट दश㸭Āन की 삾Āनूतम दूरी 24 समेी ह,ै एक 12.0 समेी
फोकस लĀाई के सरल स퉈ूĀदश쨭Ā की आवध㸭Āन ꉈĀमता है

2.0

3.0

2.1

3.1

Correct Answer :­3.0 

27)

Question Stimulus :­

Every lens has a ____________ / हर लᘮĀस मᘮĀ होता ह_ै__________

center point / कᘮĀ帳Ā िबदंु

magnetic center / चुंबकीय कᘮĀ帳Ā

colour / रंग

focal point / फोकस िबदंु

Correct Answer :­focal point / फोकस िबदं ु

28)

Question Stimulus :­

The poorest in electrical conductivity among the following metals is / िन쫳Ā धातओु ंमᘮĀ िवद्युत चालकता मᘮĀ
सबस ेत챝ुĀ है

Silver / िस선 र

Copper / कॉपर

Gold / Ȁण㸭Ā



Aluminium / ऐलिुमिनयम

Correct Answer :­Aluminium / ऐलिुमिनयम 

29)

Question Stimulus :­

If ‘m’ is the mass of the body and ‘g’ is the acceleration due to gravity at a place then weight of the body at the
place is _____ / यिद ‘m’ एक व捀  ुका 帳Ā帘Ȁमान ह ैऔर एक 슄Ȁथान पर ‘g’ ग㨰ुĀĀजिनत Āरण ह ैतो उस 슄Ȁथान पर व捀 ु
का वजन होगा_____

m x g

m/g

m x g2

m2g

Correct Answer :­m x g 

30)

Question Stimulus :­

A room is lit with a 60W filament bulb. Light suddenly becoming dimmer may mean very likely / एक कमरे
को 60W ततंकु ब鐍Ȁ स ेरोशन कर िदया जाता ह|ै 䐴Āकाश का अचानक धीमा होन ेका मतलब सभंवत: यह हो सकता है

the supply voltage has dropped and the current reduced, but not the resistance. / पिूत㸭Ā वो जे िगर
गई ह ैऔर धारा कम हो गई ह,ै लिेकन 䐴Āितरोध नहीं

the supply voltage has dropped, but not the current and the resistance of the bulb. / पिूत㸭Ā वो जे
िगर गई ह,ै लिेकन ब鐍Ȁ की धारा और 䐴Āितरोध नहीं

both the supply voltage and the resistance are reduced, but not the current. / पिूत㸭Ā वो जे और
䐴Āितरोध दोनो ंकम हो गय ेह阮Ā, लिेकन धारा नहीं

all the three – the supply voltage, the current and the resistance have dropped. / सभी तीन­ पिूत㸭Ā
वो जे, धारा और 䐴Āितरोध िगर गय ेह阮Ā

Correct Answer :­the supply voltage has dropped and the current reduced, but not the resistance. /
पिूत㸭Ā वो जे िगर गई ह ैऔर धारा कम हो गई ह,ै लिेकन 䐴Āितरोध नही ं

31)

Question Stimulus :­

Work done by centripetal force on a body moving along a circular path is / व窅ृĀाकार पथ पर चल रही व捀  ुपर
अिभकᘮĀ帳Āीय­बल 꺢Āारा िकया गया काय㸭Ā होता है



Always positive / हमशेा धना낊Āक

Always negative / हमशेा ऋणा낊Āक

Always zero / हमशेा श삾ूĀ

Undefined / अिनधा㸭Ā숝Āरत

Correct Answer :­Always zero / हमशेा श삾ूĀ 

32)

Question Stimulus :­

A body is moved through a distance of 8 m in different ways. Maximum work is done when the body is / एक व捀  ुको 8
मी दूर िविभ㚺Ā तरीको ंमᘮĀ चलाया जाता ह ै| अिधकतम काय㸭Ā िकया जायगेा जब व捀  ुको

Pushed through an inclined plane / आनत समतल स ेध︼Āा िदया जायगेा

Raised it verĕcally / ऊ檦Āा㸭Āधर उठाया जायगेा

Pushed on smooth rollers / िचकन ेरोलर पर दखलेा जायगेा

Pushed on a plane horizontal surface. / समतल ꉈĀिैतज सतह पर ध︼Āा िदया जायगेा

Correct Answer :­Raised it verĕcally / ऊ檦Āा㸭Āधर उठाया जायगेा 

33)

Question Stimulus :­

In a surface tension experiment with a capillary tube, water rises up to 0.1 m.
If the same experiment is repeated on an artificial satellite, which is revolving
around the earth, water will rise in the capillary tube up to a height of : / एक
केिशका नली के प㸫ृȀ 䐴Āितबल 䐴Āयोग मᘮĀ जल  0.1 मी० तक ऊपर उठता ह।ै यिद यही 䐴Āयोग प쒒ृĀी के चारो ंओर घमू रह ेएक
कृिĀम उप츱Āह मᘮĀ दहुराया जाए, केिशका नली मᘮĀ उपĀ슄Ȁथत जल इस ऊँचाई तक ऊपर उठेगी :

0.1 m / 0.1 मी०

0.2 m / 0.2 मी०

0.98 m / 0.98 मी०

full length of the tube / नली की परूी लĀाई

Correct Answer :­full length of the tube / नली की परूी लĀाई 

34)

Question Stimulus :­



When a stone is dropped in a pond, the ripples formed on the surface of water are / जब एक पꪅĀर को एक तालाब मᘮĀ
डाला जाता ह,ै तो जल की सतह पर बनी ऊिम㸭Āकाएं होती ह阮Ā

Transverse Waves / अन䐴ुĀ슄Ȁथ तरंगे

Longitudinal Waves /  अनदु᱙ैĀ㸭Ā तरंगे

Non‐elasĕc Waves / अ䐴Ā᲋Āा슄Ȁथ तरंगे

Both Transverse waves & Longitudinal waves / अन䐴ुĀ슄Ȁथ तरंग ेऔर अनदु᱙ैĀ㸭Ā तरंग ेदोनों

Correct Answer :­Transverse Waves / अन䐴ुĀ슄Ȁथ तरंग े

35)

Question Stimulus :­

Protective relays in a circuit breaker are provided / प숝Āरपथ िवयोजक मᘮĀ सरंꉈĀक 숝Āरल ेिदय ेजात ेह阮Ā

for immediate earthing if any stray voltage is detected. / तरुंत भसूपंक㸭Āन के िलय ेयिद कोई अवािंछत
वो जे पता चले

to keep the arcing current low during the circuit breaker operation. / प숝Āरपथ िवयोजक 䐴Āचालन के
दौरान आक㸭Āन धारा को कम रखन ेके िलये

to close the contacts when the current attains a certain predetermined value / सपंक砯Ā को बदं करन ेले
िलए जब धारा िनिȀत पवू㸭Ā िनधा㸭Ā숝Āरत मान 䐴ĀाⓃĀ कर ले

as additional safety to the circuit breaker in its operation. / प숝Āरपथ िवयोजक को उसके 䐴Āचालन मᘮĀ
अित숝Āर灣Ȁ त सरुꉈĀा के 搰Āप मᘮĀ

Correct Answer :­to close the contacts when the current attains a certain predetermined value /
सपंक砯Ā को बदं करन ेल ेिलए जब धारा िनिȀत पवू㸭Ā िनधा㸭Ā숝Āरत मान 䐴ĀाⓃĀ कर ल े

36)

Question Stimulus :­

The S.I. Unit of Work is / काय㸭Ā की S.I. इकाई है

Newton / 삾Āटून

Newton/meter / 삾Āटून/मीटर

Joule / जलू

Newton/meter2 / 삾Āटून/मीटर2

Correct Answer :­Joule / जलू 



37)

Question Stimulus :­

An ideal voltmeter should have / एक आदश㸭Ā वो मीटर मᘮĀ होना चािहए

zero resistance / श삾ूĀ 䐴Āितरोध

low resistance / कम 䐴Āितरोध

infinite resistance / अनतं 䐴Āितरोध

moderate resistance / म㲥Āम 䐴Āितरोध

Correct Answer :­infinite resistance / अनतं 䐴Āितरोध 

38)

Question Stimulus :­

If the critical angle for the medium of prism is C and the angle of prism is A, then there will be no emergent ray
when : / यिद ि䐴Ā鑤Ā के मा㲥Āम का 樱Āािंतक कोण C ह,ै एव ंि䐴Ā鑤Ā का कोण A ह,ै तब िनग㸭Āत िकरण नही ंहोगी जब:

A < 2C

A = 2C

A ≥ 2C

A ≤ 2C

Correct Answer :­A ≥ 2C 

39)

Question Stimulus :­

In foggy conditions, red signal is more easily noticeable than green and orange because when
compared to other colours red light / कुहासी अव슄Ȁथाओ ंमᘮĀ, हरे और नारंगी स ेलाल सकंेत आसानी स ेिदख जाता
ह ै᱆Āोिंक अ삾Ā रंगो की तलुना मᘮĀ लाल 䐴Āकाश

travels faster. / तज़े याĀा करता है

gets more scattered. / 쩤Āादा फैलता है

gets less scattered. / कम फैलता है

gets less absorbed. / कम अवशोिषत होता है



Correct Answer :­gets less scattered. / कम फैलता ह ै

40)

Question Stimulus :­

In a Young’s interference experimental arrangement, incident yellow light is composed of two wavelengths 5890 Å
and 5895 Å. Distance between the slits is 1 mm and the screen is placed 1 m away. Order up to which fringes can
be seen on the screen will be: / य걘ंĀ ह捀 ꉈĀपे 䐴Āयोगा낊Āक 帘Ȁव슄Ȁथा मᘮĀ, आपितत पीला 䐴Āकाश दो तरंग द㲥ैĀ砯Ā 5890 Å
तथा 5895 Å स ेिनिम㸭Āत ह।ै भ�ो ंके बीच की दूरी 1 िम०मी० ह ैएव ंȀीन 1 मी० दूर ह।ै िजस 樱Āम तक झालरो ंको
Ȁीन पर दखेा जा सकता ह,ै वह ह ै:

384

486

512

589

Correct Answer :­589 

41)

Question Stimulus :­

Leila can read a book clearly only if she can keep it 50 cm away from her eye. The power of the
corrective lens recommended for her is / लीला िकताब को 瘸Ȁ訪Ȁ तभी पढ़ सकती ह ैजब वह उस ेअपनी आखँ से
50 समेी की दूरी पर रख|े उस ेसझुाव िकय ेगय ेसधुारक लᘮĀस की ꉈĀमता है

+5 D

+2 D

–2 D

–5 D

Correct Answer :­+2 D 

42)

Question Stimulus :­

Peter who weighs 80 kg drops into the valley below from the cliff top in a
bungee jumping adventure. If it takes 7.5 s for him to drop down to the full
length of the bungee cord before it pulls him back up, his kinetic energy at the
moment is / (Take g = 10 ms­2) / पीटर िजसका वजन 80 िकलो ह,ै एक बजंी जĀ飵Āगं एडवᘮĀचर मᘮĀ, भगृ ुकी
िशखर स ेनीच ेघाटी मᘮĀ िगरता ह|ै इसस ेपहल ेिक वह उस ेवापस खीचं ल,े यिद उस ेबजंी की डोरी की परूी लĀाई पर िगरन ेमᘮĀ
7.5 सके桿Ā लगत ेह阮Ā, उस ꉈĀण गितजऊजा㸭Ā ह ै(g = 10 ms­2 ल ेलीिजय)े



225 kJ

375 kJ

600 kJ

750 kJ

Correct Answer :­225 kJ 

43)

Question Stimulus :­

Tyres are made circular because / टायरो ंको व窅ृĀाकार बनाया जाता ह ै᱆Āोिंक

Sliding fricĕon is less than rolling fricĕon / सिप㸭Āल घष㸭Āण, ब騎ेȀन घष㸭Āण स ेकम होता है

It decreases the fricĕon of the tyre / यह टायर के घष㸭Āण को कम करता है

It reduces wear & tear / यह टूट­फूट को कम करता है

Rolling fricĕon is less than sliding fricĕon / ब騎ेȀन घष㸭Āण, सिप㸭Āल घष㸭Āण स ेकम होता है

Correct Answer :­Rolling fricĕon is less than sliding fricĕon / ब騎ेȀन घष㸭Āण, सिप㸭Āल घष㸭Āण स ेकम होता ह ै

44)

Question Stimulus :­

A bar magnet with poles 25 cm apart and of pole strength 14.4 Am rests with
its centre on a frictionless point. It is held in equilibrium at 60° to a uniform
magnetic field of induction 0.25 T by applying a force F at right angle to the
axes, 12 cm from its pivot. The magnitude of the force is :  / एक चुंबकीय प㙧Āी घष㸭Āणरिहत
िबदं ुपर अपन ेकᘮĀ帳Ā पर Ā슄Ȁथर ह,ै िजसके दोनो ंꈳĀवुो ंकी दूरी 25 स०ेमी० एव ंꈳĀवु ꉈĀमता 14.4 Am ह।ै यह 600 पर
सा髺Āाव슄Ȁथा मᘮĀ एकसार िवद्युतीय ꉈĀेĀ पर अनिु㸫Ȁत ह ैिजनका 䐴Āरेण 0.25 T ह,ै ऐसा उनके अꉈĀो ंके समकोण पर पर F बल
लाग ुकरन ेपर होता ह ैिजनकी दूरी अपन ेकीलक स े12 स०ेमी० ह।ै बल का प숝Āरमाण होगा :

13√3 N

75√3 N

3.75√3 N

none of these / इनमᘮĀ स ेकोई नहीं

Correct Answer :­3.75√3 N 

45)



Question Stimulus :­

The strength of the force is expressed by its / बल के साम鈁�㸭Ā को 帘Ȁ칀Ā िकया जाता ह ैइसकी ____ 꺢Āारा|

Direcĕon / िदशा

Displacement / िव슄Ȁथापन

Magnitude / प숝Āरमाण

Both magnitude & direcĕon / प숝Āरमाण एव ंिदशा दोनों

Correct Answer :­Magnitude / प숝Āरमाण 

46)

Question Stimulus :­

Energy changes involved in the generation of electricity in a hydroelectric power station is in the order:
/ जलिवद्युत­शĀ灣Ȁ त Ȁशेन मᘮĀ िवद्युत उ�ादन मᘮĀ शािमल ऊजा㸭Ā प숝Āरवत㸭Āन इस 樱Āम मᘮĀ ह阮Ā:

Electrical to Potential to Kinetic / िवद्युत स ेĀ슄Ȁथितज स ेगितज

Electrical to Kinetic to Potential / िवद्युत स ेगितज स ेĀ슄Ȁथितज

Kinetic to Potential to Electrical / गितज स ेĀ슄Ȁथितज स ेिवद्युत

Potential to Kinetic to Electrical / Ā슄Ȁथितज स ेगितज स ेिवद्युत

Correct Answer :­Potential to Kinetic to Electrical / Ā슄Ȁथितज स ेगितज स ेिवद्युत 

47)

Question Stimulus :­

Properties of light responsible for rainbows are / 䐴Āकाश के व ेगणु जो इ帳ंĀधनषु के िलए उ窅Āरदायी ह阮Ā :

Absorption, Refraction and Dispersion / अवशोषण, अपवत㸭Āन एव ंप숝ĀरꉈĀपेण

Refraction, Dispersion and Total Internal Reflection / अपवत㸭Āन, प숝ĀरꉈĀपेण एव ंकुल आतं숝Āरक परावत㸭Āन

Dispersion, Total Internal Reflection and Diffraction / प숝ĀरꉈĀपेण, कुल आतं숝Āरक परावत㸭Āन एव ंिववत㸭Āन

Total Internal Reflection, Diffraction and Refraction / कुल आतं숝Āरक परावत㸭Āन, िववत㸭Āन एव ंअपवत㸭Āन

Correct Answer :­Refraction, Dispersion and Total Internal Reflection / अपवत㸭Āन, प숝ĀरꉈĀपेण एव ंकुल
आतं숝Āरक परावत㸭Āन 

48)



Question Stimulus :­

What will be self inductance of a coil of 200 turns in which a current of 2A produces a magnetic flux of 4 m Wb? /
200 घमुाव वाली कुंडली का आ낊Ā 䐴Āरेण ᱆Āा होगा, िजसमᘮĀ धारा 2A, चुंबकीय 䐴Āवाह 4 m Wb उ�ादन करती ह ै:

0.1 H

0.2 H

0.3 H

0.4 H

Correct Answer :­0.4 H 

49)

Question Stimulus :­

Kishen cannot see objects clearly beyond 2m. The corrective power of the lens
to be recommended for him is / िकशन उन व捀 ओु ंको 瘸Ȁ訪Ȁत: नही ंदखे सकता जो 2 मी० स ेपरे ह阮Ā| लᘮĀस
की सशंोधक ꉈĀमता िजस ेउसके िलए स捀ं तु िकया जा सकता ह ै:

– 0.5 D

– 1.0 D

+ 1.0 D

+ 0.5 D

Correct Answer :­– 0.5 D 

50)

Question Stimulus :­

One of the parts mentioned below helps in reversing the current direction in a
DC electric motor / नीच ेउĀ騎ȀĀखत मᘮĀ स ेएक अशं DC िबजली की मोटर मᘮĀ धारा की िदशा को 䐴Āतीप करन ेमᘮĀ मदद
करता है

Brushes / 簴Āशु

Armature / आम䘮Āचर

Commutator / क髺Āटूटेर

Electromagnet / िवद्युत­चुंबक

Correct Answer :­Commutator / क髺Āटूटेर 



Topic:­ Chemistry
1)

Question Stimulus :­

Identify  p, q, r & s by balancing the following chemical equation / िन쫳Ā रासायिनक
समीकरण का सतंलुन करके p, q, r और s ṢĀात कीिजये

p BaCl2 +  q Al2(SO4)3           r BaSO4  + s AlCl3

p =3           q = 1           r = 3          s = 2

p = 1          q = 3           r = 2          s = 3

p = 3          q = 2           r = 3          s = 1

p = 3          q = 3           r = 1          s = 3

Correct Answer :­p =3           q = 1           r = 3          s = 2 

2)

Question Stimulus :­

Four elements W,X,Y & Z belong to the same period of the periodic table. Their atomic radii are 74 pm, 84 pm, 111 pm
and 152 pm respecĕvely. Which one among them will have the highest ionisaĕon energy? / चार तĀ W,X,Y एव ंZ
आवत㸭Ā सारणी मᘮĀ समान आवत㸭Ā स ेिलए गए ह阮Ā| उनकी परमाण ुिĀ쩤Āा 樱Āमश: इस 䐴Āकार ह ै74 pm, 84 pm, 111 pm एवं
152 pm. िन쫳Ā मᘮĀ स ेिकसमᘮĀ उꡝĀतम आयनीकरण ऊजा㸭Ā होगी?

Y

Z

X

W

Correct Answer :­W 

3)

Question Stimulus :­

Idenĕfy the vitamin whose deficiency leads to increased blood cloħng ĕme / उस िवटािमन की पहचान करᘮĀ िजसकी
कमी स ेर칀Ā के थ︼Ā बनन ेका समय बढ़ जाता ह ै:

Vitamin A / िवटािमन A

Vitamin K / िवटािमन K



Vitamin C / िवटािमन C

Vitamin D / िवटािमन D

Correct Answer :­Vitamin K / िवटािमन K 

4)

Question Stimulus :­

Lead polluĕon in the atmosphere is caused mainly due to / वातावरण मᘮĀ लडे 䐴Āदूषण होन ेका म졋ुĀ कारण ह ै:

Tetra ethyl lead / टटे縭Āा इथाइल लडे

Lead sulphide / लडे स對Ȁाइड

Tetra methyl lead / टटे縭Āा िमथाइल लडे

Lead sulphate / लडे स對Ȁट

Correct Answer :­Tetra ethyl lead / टटे縭Āा इथाइल लडे 

5)

Question Stimulus :­

Which of the following set of metals require the same amount of charge for deposiĕon of one mole of metal? / िन쫳Ā
धातओु ंके सटे मᘮĀ स ेिकस ेएक मोल धात ुके िनꉈĀपेण के िलय ेसमान माĀा के आवशे की आव㈢Ȁकता होती ह?ै

Na, Ag, Al

Al, Cu, Zn

Mg, Zn, Cu

Ag, Zn, Cu

Correct Answer :­Mg, Zn, Cu 

6)

Question Stimulus :­

Which among the following will have the largest number of molecules? / िन쫳ĀिलĀखत मᘮĀ स ेिकसमᘮĀ अणओु ंकी स졋ंĀा
सबस ेअिधक होगी?

1 g of SO2 / SO2 का 1 츱Āा०

1 g of CO2 / CO2 का 1 츱Āा०



1 g of H2 / H2 का 1 츱Āा०

1 g of NH3 / NH3 का 1 츱Āा०

Correct Answer :­1 g of H2 / H2 का 1 츱Āा० 

7)

Question Stimulus :­

Calculate the mass of CO2 produced by heating 50 g CaCO3. / 50 g CaCO3 को गम㸭Ā करन ेस ेउ�ािदत Āए CO2 का
帳Ā帘Ȁमान प숝Āरकिलत कीिजए|

22 g

44 g

11 g

56 g

Correct Answer :­22 g 

8)

Question Stimulus :­

The solubility of a gas in liquid can be increased by / गसै की 帳Ā帘Ȁ मᘮĀ िवलयता ऐस ेबढ़ाई जा सकती है

Increasing the temperature / ताप बढ़ाकर

By increasing the pressure / दाब बढ़ाकर

By decreasing the temperature / ताप घटाकर

By increasing the pressure and decreasing the temperature / दाब बढ़ाकर और ताप घटाकर

Correct Answer :­By increasing the pressure and decreasing the temperature / दाब बढ़ाकर और ताप
घटाकर 

9)

Question Stimulus :­

In an experiment, 4.90 g of copper oxide was obtained from 3.92 g of copper.
In another experiment, 4.55 g of copper oxide gave, on reduction, 3.64 gram of
copper. Which of the law of chemical combinations is illustrated by these
experiments? / एक 䐴Āयोग मᘮĀ, कॉपर के 3.92 츱Āाम स ेकॉपर ओ桉Āाइड का 4.90 츱Āाम 䐴ĀाⓃĀ Āआ| एक दूसरे 䐴Āयोग
मᘮĀ, कॉपर ओ桉Āाइड के 4.55 츱Āाम न,े लघकूरण पर, कॉपर का 3.64  츱Āाम िदया| इन 䐴Āयोगो ं꺢Āारा रासायिनक सयंोग का



कौन सा िनयम सिचĀ िकया गया ह?ै

Law of conservation of mass / 帳Ā帘Ȁमान सरंꉈĀण का िनयम

Law of constant proportion / िनयत समानपुात का िनयम

Law of multiple proportion / बĀगिुणत समानपुात का िनयम

Law of reciprocal proportion / 帘Ȁ욂ुĀम समानपुात का िनयम

Correct Answer :­Law of constant proportion / िनयत समानपुात का िनयम 

10)

Question Stimulus :­

In a sample of ethyl acetate CH3COOC2H5, the two oxygen atoms have the same number of electrons but
different number of neutrons. Which of the following is the correct statement for it­ / इथाइल एिसटटे
CH3COOC2H5 के एक 䐴Āितदश㸭Ā मᘮĀ, ऑ桉Āीजन के दो परमाणओु ंमᘮĀ इल툿ेĀ縭Āॉनो ंकी स졋ंĀा समान ह,ै िक늪Ā ु삾Āटू縭Āॉनो ंकी
स졋ंĀा िविभ㚺Ā ह।ै िन쫳Ā मᘮĀ स ेइसके िलए सही कथन कौन सा ह?ै

One of the oxygen atoms has gained an electron. ऑ桉Āीजन के िकसी एक परमाण ुन ेएक इल툿ेĀ縭Āॉन 䐴ĀाⓃĀ
िकया।

One of the oxygen atoms has gained a proton. / ऑ桉Āीजन के िकसी एक परमाण ुन ेएक 䐴Āोटॉन 䐴ĀाⓃĀ िकया।

The two oxygen atoms are isotopes. / ऑ桉Āीजन के दोनो ंपरमाण ुसम슄Ȁथािनक ह阮Ā।

The two oxygen atoms are isobars. / ऑ桉Āीजन के दोनो ंपरमाण ुसमभा숝Āरक ह阮Ā।

Correct Answer :­The two oxygen atoms are isotopes. / ऑ桉Āीजन के दोनो ंपरमाण ुसम슄Ȁथािनक ह阮Ā। 

11)

Question Stimulus :­

In manganese, Mn(atomic Number=25), the total number of orbits populated by one or more electrons in ground
state is / म阮Āगनीज मᘮĀ, Mn(परमाण­ु樱Āमाकं=25), िन쫳Āतम अव슄Ȁथा मᘮĀ एक या अिधक इल툿ैĀ縭Āॉनो ं꺢Āारा आवािसत कꉈĀाओं
की कुल स졋ंĀा है

4

3

5

None of above / उपरो칀Ā कोई नहीं

Correct Answer :­4 



12)

Question Stimulus :­

Among the following compounds, which one would undergo addiĕon reacĕon with Br2? / िन쫳Ā यौिगको ंमᘮĀ, Br2 के
साथ जोड़ अिभि樱Āया स ेकौन गजुरेगा?

CH3CH2CH2CH3

CH3CH3

CH3CH2CH3

CH3CH2CH = CH2

Correct Answer :­CH3CH2CH = CH2 

13)

Question Stimulus :­

Iron pyrite ore is concentrated by_____ / लौह मािꉈĀक अय젮Ȁ को इसके 꺢Āारा सािं帳Āत िकया जाता ह_ै______

Magneĕc separaĕon / चुंबकीय पथृकन

Leaching / िनꉈĀालन

Froth floataĕon process / झाग 䐴Āवत㸭Āन ि樱Āया

Hydraulic washing  / 帳Āवीय धलुाई

Correct Answer :­Froth floataĕon process / झाग 䐴Āवत㸭Āन ि樱Āया 

14)

Question Stimulus :­

Butter can be separated from milk by / म혽Āन को दूध स ेइसके 꺢Āारा अलग िकया जा सकता है

Filtration / िन瘸Ȁदंन

Evaporation / वा눬Ȁन

Centrifugation / अपकᘮĀ帳Āण

Solvent extraction / िवलायक िन爩Ȁष㸭Āण

Correct Answer :­Centrifugation / अपकᘮĀ帳Āण 



15)

Question Stimulus :­

Choose the statement which is always correct about an element. / उस त鈁� का चनुाव करᘮĀ जो एक तĀ के िवषय मᘮĀ
हमशेा स ेस᲋Ā ह।ै

An element has equal number of electrons and protons in its atoms. / तĀ के परमाणओु ंमᘮĀ इल툿ेĀ縭Āॉनो ंएवं
䐴Āोटॉनो ंकी स졋ंĀा समान होती ह।ै

An element has equal number of electrons and neutrons in its atoms. / तĀ के परमाणओु ंमᘮĀ इल툿ेĀ縭Āॉनो ंएवं
삾Āटू縭Āॉनो ंकी स졋ंĀा समान होती ह।ै

An element has equal number of protons and neutrons in its atoms. / तĀ के परमाणओु ंमᘮĀ 䐴Āोटॉनो ंएवं
삾Āटू縭Āॉनो ंकी स졋ंĀा समान होती ह।ै

Atomic mass of an element is double that of its atomic number. / तĀ का परमाण ु帳Ā帘Ȁमान इसके परमाणु
स졋ंĀा का दोगनुा होता ह।ै

Correct Answer :­An element has equal number of electrons and protons in its atoms. / तĀ के परमाणओुं
मᘮĀ इल툿ेĀ縭Āॉनो ंएव ं䐴Āोटॉनो ंकी स졋ंĀा समान होती ह।ै 

16)

Question Stimulus :­

The different fractions of petroleum are separated by their / पटे縭Āोिलयम के िविभ㚺Ā सघंटक इसके 꺢Āारा पथृक िकये
जात ेह阮Ā

Difference in density / सघनता मᘮĀ अतंर

Difference in boiling point / 뱇Āथनाकं मᘮĀ अतंर

Difference in solubility / िवलयता मᘮĀ अतंर

Difference in melting point / गलनाकं मᘮĀ अतंर

Correct Answer :­Difference in boiling point / 뱇Āथनाकं मᘮĀ अतंर 

17)

Question Stimulus :­

In carbon dioxide, the proportion of carbon and oxygen by mass is­ / काब㸭Āन­डाई­ऑ桉Āाइड मᘮĀ काब㸭Āन और
ऑ桉Āीजन के 帳Ā帘Ȁमान का अनपुात होता ह ै­

3  :  8

8  :  3



3  :  4

4  :  3

Correct Answer :­3  :  8 

18)

Question Stimulus :­

The elements A, B, C and D get their valence electrons progressively filled. Arrange them in the decreasing order of
their atomic size. / A, B, C और D तĀो ंमᘮĀ उनके कष㸭Āण इल툿ैĀ縭Āॉन उ窅Āरो窅Āर भरत ेह阮Ā। उ䣀ĀᘮĀ उनके परमाण ुनाप के घटते
樱Āम मᘮĀ 帘ȀवĀ슄Ȁथत कीिजये

B>C>D>A

C>D>A>B

D>B>A>C

A>B>C>D

Correct Answer :­A>B>C>D 

19)

Question Stimulus :­

pH value of a solution of a  strong base and weak acid is likely to be / 䐴Āबल­ꉈĀारक
 और दबु㸭Āल अ틼Ā के िवलय का pH मान सभंवत: यह होगा

3

7

5

9

Correct Answer :­9 

20)

Question Stimulus :­

Which of the following compounds has 40% calcium? / िन쫳Ā मᘮĀ स ेिकस यौिगक मᘮĀ 40% कैĀ툓Ȁयम ह?ै

Calcium nitrate / कैĀ툓Ȁयम नाइट縭Āट

Calcium bicarbonate / कैĀ툓Ȁयम बाइकाब∯Āनटे



Calcium hydroxide / कैĀ툓Ȁयम हाइड縭Āा桉Āाइड

Calcium carbonate / कैĀ툓Ȁयम काब∯Āनटे

Correct Answer :­Calcium carbonate / कैĀ툓Ȁयम काब∯Āनटे 

21)

Question Stimulus :­

Idenĕfy the atomic number(z) of the element that can easily lose an electron and forms uni posiĕve ion? / तĀ का
परमाण­ु樱Āमाकं ṢĀात कीिजय ेजो आसानी स ेइल툿ैĀ縭Āॉन खो सकता ह ैऔर एक धना낊Āक आयन बनाता है

z=11

z=4

z=7

z=17

Correct Answer :­z=11 

22)

Question Stimulus :­

Which of the following properties enables copper metal to be used for making electric wire? / िन쫳ĀिलĀखत मᘮĀ से
कौन सा गणु ताबँा धात ुको िवद्युत का तार बनान ेके िलए सꉈĀम बनाता ह?ै

Copper metal is malleable and ductile. / ताबँा धात ुआधातव㲥Ā㸭Ā एव ंत삾Ā होता ह।ै

Copper metal is good conductor of electricity. / ताबँा धात ुिवद्युत का सचुालक होता ह।ै

Copper metal is ductile and has low electrical resistance. / ताबँा धात ुत삾Ā होता ह ैएव ंइसमᘮĀ िवद्युत का
䐴Āितरोधन िन쫳Ā होता ह।ै

Copper metal is sonorous and an excellent conductor of electricity. / ताबँा धात ु檦Āािनक एव ंिवद्युत का
अ᲋Ā窅ुĀम सचुालक होता ह।ै

Correct Answer :­Copper metal is ductile and has low electrical resistance. / ताबँा धात ुत삾Ā होता ह ैएवं
इसमᘮĀ िवद्युत का 䐴Āितरोधन िन쫳Ā होता ह।ै 

23)

Question Stimulus :­

Kerosene burns more rapidly than coke because­ / िकरोसीन कोक स े쩤Āादा शीဲĀता स ेजलता ह ै᱆Āोिंक­

It is a liquid hydrocarbon / यह एक तरल हाइड縭Āोकाब㸭Āन है



It has got more oxygen in it than coke / इसमᘮĀ कोक की अपꉈेĀा 쩤Āादा ऑ桉Āीजन है

It has low ignition temperature / इसका 䐴ĀꙐကलनताप कम है

None of the above / उपरो칀Ā कोई नहीं

Correct Answer :­It has low ignition temperature / इसका 䐴ĀꙐကलनताप कम ह ै

24)

Question Stimulus :­

The gas that was mainly responsible for Bhopal gas tragedy is / भोपाल गसै Āासदी के िलए म졋ुĀ 搰Āप स ेिजĀदेार यह
गसै था :

Nitrous oxide / नाइट縭Āस ऑ桉Āाइड

Methl isocyanate / िमथाइल आइसोसाइनटे

Carbon‐di‐oxide / काब㸭Āन­डाई­ऑ桉Āाइड

Chlorofluorocarbons / 癇ĀोरोĀोरोकाब㸭Āन

Correct Answer :­Methl isocyanate / िमथाइल आइसोसाइनटे 

25)

Question Stimulus :­

The two biologically important compounds that contain both oxygen and
nitrogen / जिैवक 搰Āप स ेमहĀपणू㸭Ā दो यौिगक िजसम ेऑ桉Āीजन एव ंनाइट縭Āोजन िनिहत होत ेह阮Ā

Carbohydrates & fats / काब∯Āहाइड縭Āट एव ंवसा

Vitamins & fats / िवटािमन एव ंवसा

Vitamins & Minerals / िवटािमन एव ंखिनज

Nucleic acids and proteins / 삾ĀूĀ癇Āक एिसड एव ं䐴Āोटीन

Correct Answer :­Nucleic acids and proteins / 삾ĀूĀ癇Āक एिसड एव ं䐴Āोटीन 

26)

Question Stimulus :­

Predict the products formed by  the electrolysis of an aqueous solution of
sodium chloride / सोिडयम 癇Āोराइड के एक जलीय घोल के वदै्युत अपघटन 꺢Āारा गिठत उ�ादो ंका
पवूा㸭Āनमुान लगाइय:े



Sodium & chlorine / सोिडयम एव ं癇Āो숝Āरन

Sodium & hydrogen / सोिडयम एव ंहाइड縭Āोजन

Sodium & oxygen / सोिडयम एव ंऑ桉Āीजन

Hydrogen, chlorine & sodium hydroxide / हाइड縭Āोजन, 癇Āो숝Āरन एव ंसोिडयम हाइड縭Āॉ桉Āाइड

Correct Answer :­Hydrogen, chlorine & sodium hydroxide / हाइड縭Āोजन, 癇Āो숝Āरन एव ंसोिडयम हाइड縭Āॉ桉Āाइड 

27)

Question Stimulus :­

The metal which melt at body temperature is / धात ुजो शरीर ताप पर िपघलती है

Gallium / गिैलयम

Mercury / पारद

Palladium / पलैिेडयम

Cadmium / कैडिमयम

Correct Answer :­Gallium / गिैलयम 

28)

Question Stimulus :­

Bromine particles are almost twice as heavy as chlorine particles. Which gas will diffuse faster? / 簴Āोमीन कण
癇Āोरीन कणो ंस ेलगभग दोगनु ेभारी होत ेह阮Ā| कौन सी गसै तज़ेी स ेिवस숝Āरत होगी?

Bromine / 簴Āोमीन

Chlorine / 癇Āोरीन

Both the gases will diffuse at the same rate. / दोनो ंगसै ेसमान दर स ेिवस숝Āरत होगंी

Diffusion will not take place. / िवसरण नही ंहोगा

Correct Answer :­Chlorine / 癇Āोरीन 

29)

Question Stimulus :­

Which of the following is soluble in water? / िन쫳Ā म ंस ेजल मᘮĀ िवलये कौन स ेह阮Ā?

CHCl3



CCl4

C2H5OH

CS2

Correct Answer :­C2H5OH 

30)

Question Stimulus :­

What is the chemical formula of marble? / माब㸭Āल का सायिनक सूĀ ᱆Āा ह?ै

CaCO3

CuCO3

CaO

Ca(OH)2

Correct Answer :­CaCO3 

31)

Question Stimulus :­

Scuba divers use a mixture of oxygen and nitrogen as respiratory mixture. Nitrogen dissolves in their blood due
to­ / 젮Ȁबा गोताखोर 䒄Ȁ वसन िमĀण के 搰Āप मᘮĀ ऑ桉Āीजन और नाइट縭Āोजन के िमĀण का 䐴Āयोग करत ेह阮Ā| नाइट縭Āोजन
उनके र칀Ā मᘮĀ इस कारण घलु जाती ह­ै

Low temperature inside the sea / सम帳ुĀ के अदंर कम ताप

High temperature inside the sea / सम帳ुĀ के अदंर उꡝĀ ताप

High pressure in the sea / सम帳ुĀ मᘮĀ उꡝĀ दाब

Low pressure in the sea / सम帳ुĀ मᘮĀ कम दाब

Correct Answer :­High pressure in the sea / सम帳ुĀ मᘮĀ उꡝĀ दाब 

32)

Question Stimulus :­

When an atom of chlorine convert into chloride ion, the radius will  / जब एक 癇Āोरीन
का परमाण ु癇Āोराइड आयन मᘮĀ प숝Āरवित㸭Āत होता ह,ै तो िĀ쩤Āा



Decrease / घटगेी

Increase / बढ़गेी

Remain the same / समान रहगेी

None / कोई नहीं

Correct Answer :­Increase / बढ़गेी 

33)

Question Stimulus :­

The proportion of hydrogen and oxygen by mass in hydrogen peroxide is / हाइड縭Āोजन परऑ桉Āाइड मᘮĀ हाइड縭Āोजन
और ऑ桉Āीजन का समानपुात होता है

1 : 8

1 : 16

8 : 1

16 : 1

Correct Answer :­1 : 16 

34)

Question Stimulus :­

Hexanal is a six –carbon compound with the following functional group / ह桉ेĀानल एक छ: काब㸭Āन यौिगक है
िजसका 䐴Āकाया㸭Ā낊Āक समहू है

­OH

­COOH

>C=O

­CHO

Correct Answer :­­CHO 

35)

Question Stimulus :­

Which one among the following solution does not conduct electricity? / िन쫳Ā मᘮĀ स ेकौन सा एक िवलय िवद् यतु ्का
सचंालन नही ंकरता?



 Hydrochloric acid  / हाइड縭Āो癇Āो숝Āरक अ틼Ā

Potassium chloride / पोटिैशयम 癇Āोराइड

Alcohol / ए㠂Ȁोहॉल

Sodium hydroxide / सोिडयम हाइड縭Āॉ桉Āाइड

Correct Answer :­Alcohol / ए㠂Ȁोहॉल 

36)

Question Stimulus :­

In NaCl, the attraction between sodium ion and chloride ion is / NaCl मᘮĀ, सोिडयम आयन और 癇Āोराइड आयन के
बीच आकष㸭Āण है

Dipole­dipole forces  /  ि꺢ĀꈳĀवुि꺢ĀꈳĀवु बल

London forces  / लदंन बल

Hydrogen bonding / हाइड縭Āोजन आबधंन

Electrostatic forces of attraction / आकष㸭Āण के Ā슄Ȁथर वदै्युत बल

Correct Answer :­Electrostatic forces of attraction / आकष㸭Āण के Ā슄Ȁथर वदै्युत बल 

37)

Question Stimulus :­

An example of a button cell suitable for low current devices like hearing aids,
watches etc. is / बटन सले का एक उदाहरण, जो िन쫳Ā िवद्युत ्धारा वाल ेउपकरण, जसै ेकान की मशीन, घिड़यां
इ᲋Āािद  के िलए उपय칀ुĀ ह ै:

Mercury cell / पारा सले

Dry cell / सखूा सले

Lead storage battery / सीसा सचंायक बटैरी

Nickel­Cadmium storage battery / िनकल­कैडिमयम सचंायक बटैरी

Correct Answer :­Mercury cell / पारा सले 

38)

Question Stimulus :­

The process in which water changes into water vapour and rises in the atmosphere, is called / वह 䐴Āि樱Āया िजसमᘮĀ



जल जल­वा눬Ȁ मᘮĀ प숝Āरवित㸭Āत हो जाता ह ैऔर ऊपर की ओर वायमुडंल मᘮĀ उठता है

Sublimation / ऊ檦Ā㸭Āपातन

Transpiration / वा눬Ȁो劍Āज㸭Āन

Evaporation / वा눬Ȁीकरण

Precipitation / अवꉈĀपेण 

Correct Answer :­Evaporation / वा눬Ȁीकरण 

39)

Question Stimulus :­

Which of the following solution will have more conductivity? / िन쫳Ā मᘮĀ स ेिकस िवलयन की चालकता 쩤Āादा होगी?

1M NaCl

1M MgCl2

1M AlCl3

1M Al2(SO4)3

Correct Answer :­1M Al2(SO4)3 

40)

Question Stimulus :­

Which of the following compounds can be decomposed by light? / िन쫳Ā मᘮĀ स ेकौन स ेयौिगक 䐴Āकाश 꺢Āारा अपघिटत
हो सकत ेह阮Ā?

NaCl

CuCl

MgCl

AgCl

Correct Answer :­AgCl 

41)

Question Stimulus :­



An element X has 19 protons, 18 electrons and 20 neutrons. This particle must be ­ / िकसी तĀ X मᘮĀ 19 䐴Āोटॉन,
18 इल툿ेĀ縭Āॉन तथा 20 삾Āटू縭Āॉन ह阮Ā। यह कण होना चािहए

A molecule / एक अणु

An compound / एक यौिगक

An anion / एक आयन

A  cation / एक धनायन

Correct Answer :­A  cation / एक धनायन 

42)

Question Stimulus :­

The chemical bond formed by the transfer of electron from one atom to another is known as / एक परमाण ुसे
दूसरे परमाण ुमᘮĀ इल툿ेĀ縭Āॉन के 슄Ȁथानातंरण 꺢Āारा गिठत रासायिनक आबधं इस 搰Āप मᘮĀ जाना जाता ह ै:

Covalent bond / सहसयंोजी आबधं

Coordinate bond / उपसहसयंोजकता आबधं

Metallic bond / धाĀĀक आबधं

Electrovalent bond / वदै्युत सयंोजक आबधं

Correct Answer :­Electrovalent bond / वदै्युत सयंोजक आबधं 

43)

Question Stimulus :­

Identify the type of reaction in : / अिभि樱Āया के 䐴Ā搰Āप की पहचान करᘮĀ :

NH4NO2(s)          N2(g) + 2H2O(g)

Combination reaction / सयं칀ुĀ अिभि樱Āया

Decomposition reaction / अपघटन अिभि樱Āया

Displacement reaction / िव슄Ȁथापन अिभि樱Āया

Oxidation reaction / ऑ桉Āीकरण अिभि樱Āया

Correct Answer :­Decomposition reaction / अपघटन अिभि樱Āया 

44)



Question Stimulus :­

Which of the following substance has no fixed shape but has a fixed volume? / िन쫳ĀिलĀखत मᘮĀ स ेिकस पदाथ㸭Ā का
आकार िनिȀत नही ंपर늪Ā ुआयतन िनिȀत होता ह?ै

Krypton / ि樱Ā틁Āॉन

Kerosene / िकरोिसन

Carbon steel / काब㸭Āनइ瘸Ȁात

Carbondioxide / काब㸭Āन­डाई­ऑ桉Āाइड

Correct Answer :­Kerosene / िकरोिसन 

45)

Question Stimulus :­

Which one of the following is the correct order in respect of increasing attraction force between their particles. /
िन쫳Ā मᘮĀ स ेकणो ंके बीच बढ़त ेआकष㸭Āण बल के सदंभ㸭Ā मᘮĀ सही 樱Āम कौन सा ह?ै

Water, air,  wind / जल, हवा, वायु

Air, sugar , oil / हवा, चीनी, तले

Oxygen, water, sugar / ऑ桉Āीजन, जल, चीनी

Salt, juice, air / नमक, जसू, हवा

Correct Answer :­Oxygen, water, sugar / ऑ桉Āीजन, जल, चीनी 

46)

Question Stimulus :­

The impurities that are usually associated with the metal ores are known as / अश岚Āताएं जो सामा삾Āत: धातु
अय젮Ȁो ंस ेसबंिंधत होती ह阮Ā,वह कहलाती ह阮Ā

Flux / 癳Ȁ䊂Ȁ桉Ā

Gangue / आधाĀी

Slag / धातमुल

Minerals / खिनज

Correct Answer :­Gangue / आधाĀी 

47)



Question Stimulus :­

The material which is used as disinfectant during the purification process of water is­ / वह पदाथ㸭Ā िजस ेजल के
शोधन की 䐴Āि樱Āया के दौरान िवस樱ंĀामक की तरह 䐴Āयोग िकया जाता ह ै­

Potassium permanganate / पोटिेशयम परम阮Āगनटे

Butadiene / 껥Āटूाडाईन

Potash alum / पोटशै­िफटकरी

Chlorine / 癇Āोरीन

Correct Answer :­Chlorine / 癇Āोरीन 

48)

Question Stimulus :­

Which of the following phenomenon will increase with rise in temperature? / िन쫳ĀिलĀखत मᘮĀ स ेकौन­सी प숝Āरघटना
तापमान बढ़न ेस ेबढ़गेी?

Evaporation / वा눬Ȁन

Condensation / सघंनन

Compression of gas / गसै सपंीडन

Solubility of gases / गसै की िवलयेता

Correct Answer :­Evaporation / वा눬Ȁन 

49)

Question Stimulus :­

Natrium is the Latin name for the element ­ / निैट縭Āयम लिैटन नाम ह ैइस तĀ का ­

Na

K

Mg

N

Correct Answer :­Na 

50)



Question Stimulus :­

Maximum number of electrons which can be accommodated in 4th orbit are______ / इल툿ेĀ縭Āॉनो ंकी अिधकतम
स졋ंĀा ______ ह,ै जो कꉈĀा 4 मᘮĀ समायोिजत की जा सकती ह阮Ā।

16

18

32

36

Correct Answer :­32 

Topic:­ Maths
1)

Question Stimulus :­

   is equal to /      समान ह ैइसके

6

5

5

20

Correct Answer :­6  

2)

Question Stimulus :­

If x and y are +ve reals where   and xy= 5, then the value of 3x+ 2y
is _______.  / यिद x एव ंy +ve वा捀 िवक स졋ंĀाएँ ह,ै जहा ँ  एव ंxy= 5, तब 3x+
2y  का मान होगा _______.

8

11

13

10



Correct Answer :­10 

3)

Question Stimulus :­

The equation of line passing through origin and (3,­1) is_______ / मलू िबदं ुएव ं(3,­1) स ेहोकर गजुरन ेवाली रैखीय
समीकरण ह ै_______

3y­x= 0

x +3y =0

3x+ 2y=0

3x­2y=0

Correct Answer :­x +3y =0 

4)

Question Stimulus :­

Distance of the point (­2, 5) from y axis is _______ / अꉈĀ स ेिबदं ु(­2, 5) की दूरी ह ै_______

5 units

2 units

3 units

7 units

Correct Answer :­2 units 

5)

Question Stimulus :­

If   are complimentary angles, where   and 
 (2x+5) , then the value of  x is _______ / यिद    परूक कोण ह阮Ā, जहा ँ

 एव ं  (2x+5) , तो x का मान होगा _______

25

35

20



45

Correct Answer :­25 

6)

Question Stimulus :­

In the figure find x. / इस िचĀ मᘮĀ x ṢĀात करᘮĀ|

 

115

105

125

100

Correct Answer :­115 

7)

Question Stimulus :­

Area of triangle having perimeter = 30cm, one side =10cm and difference of
other two sides = 6cm is_______  / एक िĀभजु िजसकी प숝Āरिध = 30 समेी, एक भजुा = 10
समेी एव ंअ삾Ā दो भजुाओ ंका अतंर = 6 समेी, तो इसका ꉈĀेĀफल = _______

30  sq cm

20  sq cm

60 sq cm

10  sq cm

Correct Answer :­20  sq cm 

8)

Question Stimulus :­



Question Stimulus :­

Sum of length, breadth and height of a cuboid is 21cm and length of diagonal is 13cm,
then the surface area of the cuboid is_______  / एक घनाभ की लĀाई, चौड़ाई एव ंऊँचाई का योग 21
समेी ह ैएव ंिवकण㸭Ā की लĀाई 13 समेी, तब घनाभ का प㸫ृȀीय ꉈĀेĀफल _______ ह|ै

372 sq cm

272 sq cm

610 sq cm

190 sq cm

Correct Answer :­272 sq cm 

9)

Question Stimulus :­

2 x ­4 x 7 2x – 10 = 196.  The value of x is / x का मान ह ै:

5

6

7

4

Correct Answer :­6 

10)

Question Stimulus :­

Assuming that x and y are positive real numbers, then the simplified form of   x  

x    / यह मान िलया जाए िक x एव ंy धना낊Āक वा捀 िवक स졋ंĀाएँ ह阮Ā, तब   x   x    का सरल
搰Āप :

1

Y

X

2

Correct Answer :­1 



11)

Question Stimulus :­

If   = 1.414, then the value of   up to three decimal places is / यिद   = 1.414, तब 

 का मान तीन दशमलव 슄Ȁथानो ंतक :

0.707

0.686

0.718

1.079

Correct Answer :­0.707 

12)

Question Stimulus :­

If the points (3 , a) , (­12 , b) and (c , ­12) lie on the straight line with equation y = ­ 
 then the values of  a , b , c  respectively  are / यिद िबदं ु(3 , a) , (­12 , b) एव ं(c , ­12) एक सरल

रेखा मᘮĀ Ā슄Ȁथत ह阮Ā समीकरण y = ­   के साथ, तब a , b , c का मान 樱Āमश: ह ै:

­2 , 8 , 18

2 , 6 , ­18

­2 , ­8 , 9

2 , ­6 ,­9

Correct Answer :­­2 , 8 , 18 

13)

Question Stimulus :­

In  PQR, PS is the median through P.   X is the midpoint of PS. QX produced to
meet PR in T.  If PR = 12 cm , then PT = /   PQR मᘮĀ, P के 꺢Āारा PS एक माĀ㲥Āका ह|ै X,
PS मᘮĀ एक म㲥Āिबदं ुह|ै PR स ेT पर िमलान के िलए QX िनिम㸭Āत िकया जाता ह|ै यिद PR = 12 समेी,  तब
PT =



4 cm

3 cm

6 cm

2 cm

Correct Answer :­4 cm 

14)

Question Stimulus :­

‘O’ is the centre of the circle. Chord AB = chord CD.  OL and OM are
perpendiculars to AB and CD respectively. If OL = 2 cm, then OM = / एक व窅ृĀ का
कᘮĀ帳Ā O ह|ै चाप AB = चाप CD| OL एव ंOM 樱Āमश: AB एव ंCD पर लबंवत ह阮Ā| यिद OL = 2 समेी, तब
OM =

1 cm

2 cm

4 cm

3 cm

Correct Answer :­2 cm 

15)

Question Stimulus :­

The ratio between the total surface area and the curved surface area of a right
circular cylinder is 5:2.  Then the ratio between the radius and the height is /
एक लबं व暠ृ  तीय बलेन की कुल प㸫ृȀीय ꉈĀेĀफल एव ंव樱Ā प㸫ृȀीय ꉈĀेĀफल का अनपुात 5:2 ह|ै तब िĀ쩤Āा एवं
ऊँचाई के बीच का अनपुात ह ै:

1:1

3:2



5:1

2:1

Correct Answer :­3:2 

16)

Question Stimulus :­

The length of the box is twice its breadth and half its height.  If the volume is
216 cm3, then its breadth is / एक ब桉Ā ेकी लबंाई उसके चौड़ाई की दोगनुी एव ंउसके ऊँचाई की
आधी ह|ै यिद इसका आयतन 216 समेी2 ह,ै तब इसकी चौड़ाई ह ै:

1.5 cm

3 cm

2 cm

2.5 cm

Correct Answer :­3 cm 

17)

Question Stimulus :­

The rational number which has a terminating decimal expansion is / वह प숝Āरमये स졋ंĀा िजसमᘮĀ सातं दशमलव 䐴Āसारण
ह ै­

Correct Answer :­  

18)

Question Stimulus :­



The polynomial 4x2 – 8 mx – 9 has one root as the negative of the other.  The value of ‘m’ 
is / बĀपद 4x2 – 8 mx – 9  का एक मलू दसुरे का ऋणा낊Āक ह|ै ‘m’ का मान होगा ­

0

2

­ 2

Correct Answer :­0 

19)

Question Stimulus :­

The discriminant of the quadratic equation 4x2 – 4x +1 = 0 is / ि꺢Āघात समीकरण 4x2 – 4x +1 = 0 का िविव灣ȀꚂĀर ह ै­

0

1

Correct Answer :­0 

20)

Question Stimulus :­

ax2 + ax – 2 = 0 and x2 ­ 3x + P = 0 have common root x = 2.  Then (a + P) is /
x2 + ax – 2 = 0 एव ंx2 ­ 3x + P = 0 मᘮĀ सामा삾Ā मलू x = 2.  तब  (a + P) होगा­

2



Correct Answer :­  

21)

Question Stimulus :­

In  ,  ST ‖ PR.  If QS = ( m ­ 4 ) , QT = ( m – 2 ) , PS = m and RT = ( m + 4 ).  The length PQ =/  
 मᘮĀ, ST ‖ PR.  यिद QS = ( m ­ 4 ), QT = ( m – 2 ) , PS = m एव ंRT = ( m + 4 ).  PQ की लĀाई =

16

8

2

12

Correct Answer :­12 

22)

Question Stimulus :­

The three consecutive vertices of a parallelogram are (1, 2), (4, 3), (6, 6). The co­ordinates of the fourth vertex
are: / एक समानातंर चतभु㸭ुĀज के तीन 樱Āिमक शीष㸭Ā इस 䐴Āकार ह阮Ā (1, 2), (4, 3), (6, 6)। चौथ ेशीष㸭Ā के िनद䘮Āशाकं होगं े­

( 3 , 2 )

( 5 , 3 )

( 2 , 3 )

( 3 , 5 )

Correct Answer :­( 3 , 5 ) 

23)

Question Stimulus :­

The distance of point P ( 2 , 4 ) from the origin is / िबदं ुP ( 2 , 4 ) की मलू िबदं ुस ेदूरी ­



2  

5

3

Correct Answer :­2   

24)

Question Stimulus :­

If sin B =  , then cot B is / यिद sin B =  , तब cot B होगा ­

Correct Answer :­  

25)

Question Stimulus :­

The difference between the circumference and the diameter of a circle is 30
cm.  The area of the circle is / एक व窅ृĀ के प숝Āरिध और 帘Ȁास के बीच का अतंर 30 स०ेमी० ह।ै व窅ृĀ
का ꉈĀेĀफल ह ै­

120 cm2

154 cm2

132 cm2

215 cm2

Correct Answer :­154 cm2 



26)

Question Stimulus :­

A toy is in the shape of a cone surmounted by a hemisphere.  The height of the
toy is 7 cm and the diameter is 6 cm.  The slant height of the toy is / एक Āखलौना
एक शकंु के आकार का ह,ै िजसके ऊपर एक अ岚Ā㸭Āगोला अ㲥Āारोिपत ह|ै Āखलौन ेकी ऊँचाई 7 स०ेमी० और
帘Ȁास 6 स०ेमी० ह|ै Āखलौन ेकी ितय㸭Āक ऊँचाई होगी ­

4.5 cm

5 cm

4.8 cm

5.5 cm

Correct Answer :­5 cm 

27)

Question Stimulus :­

For what value of k the lines, represented by the system of equations 3x – ky = 20 and 7x + 2y = 17, are
intersecting? / k के िकस मान के िलए समीकरण िनकाय 3x – ky = 20 एव ं7x + 2y = 17 꺢Āारा िन㨰Āिपत रेखाएँ
䐴Āित챝Āिेदत करती ह阮Ā?

k   

k = 

k = 

k   

Correct Answer :­k     

28)

Question Stimulus :­

The positive value of ‘k’, for which the equations x2 + kx + 4=0 and x2 ­ 4x + k = 0 will
have real roots, is / समीकरण  x2 + kx + 4=0 एव ंx2 ­ 4x + k = 0 के िलए k का धना낊Āक मान होगा
िजसका वा捀 िवक मलू ह ै:

8



12

6

4

Correct Answer :­4 

29)

Question Stimulus :­

The height of the tower is 14ft. The length of its shadow, when sun’s altitude is 30˚, is / एक मीनार की ऊँचाई
14फुट ह।ै जब सयू㸭Ā 30˚ की ऊँचाई पर ह,ै तब इसके छाया की लĀाई :

 ft

7 ft

14 ft

14  ft

Correct Answer :­14  ft 

30)

Question Stimulus :­

The perimeter of the triangle formed by the points (0, 0), (2, 0) and (0, 2), is / िĀभजु की प숝Āरिध, जो िक (0, 0), (2,
0) एव ं(0, 2) िब㱭Ȁदुओ ंस ेबनी ह ै:

2+

1

2(2  )

6

Correct Answer :­2(2  ) 

31)

Question Stimulus :­

The equation of the perpendicular bisector of AB where A and B are the points

(6 , 5) and (­4 , 3) respectively, is /  AB के लबंवत ि꺢Āभाजक का समीकरण, जहा ँA एव ंB



(6 , 5) and (­4 , 3) respectively, is /  AB के लबंवत ि꺢Āभाजक का समीकरण, जहा ँA एव ंB
樱Āमश: िब㱭Ȁदुएँ (6 , 5) एव ं(­4 , 3) ह阮Ā :

5x + y – 9 = 0

x –5y – 9 = 0

x + 5y + 9 = 0

5x – 5y – 9 = 0

Correct Answer :­5x + y – 9 = 0 

32)

Question Stimulus :­

AB and AC are two tangents drawn from an external point ‘A’ to a circle with
centre ‘O’.  If ∠ CAB = 600, then ∠ AOB = / कᘮĀ帳Ā ‘O’ वाली व窅ृĀ के बा䒐 िबदं ुA स ेदो 瘸Ȁश㸭Āरेखाएँ
AB एव ंAC Āखचंी गयी ह।ै यिद ∠ CAB = 600, तब ∠ AOB =

400

700

600

800

Correct Answer :­600 

33)

Question Stimulus :­

A wire in the form of a circle of radius 28 cm is bent into a square. The side of
the square formed is  / एक व窅ृĀाकार तार िजसकी िĀ쩤Āा 28 समेी ह,ै को मोड़कर एक वग㸭Ā बनाया
जाता ह।ै बनाय ेगए वग㸭Ā की भजुा ह ै:

44 cm



30 cm

40 cm

50 cm

Correct Answer :­44 cm 

34)

Question Stimulus :­

The total surface area of the cube is 384 cm2.  The length of its diagonal is  / एक
घन का प预ृȀ ठीय ꉈĀेĀफल 384 समेी2 ह।ै इसके िवकण㸭Ā की लĀाई ह:ै

8

4

Correct Answer :­8  

35)

Question Stimulus :­

If   = ___________ / यिद    =___________

Correct Answer :­  

36)

Question Stimulus :­



In a ∆ABC, right angled at B, if AB = 4 and BC = 3, find cot A. / ∆ABC मᘮĀ, जो B पर समकोण ह,ै यिद AB = 4 और
BC = 3, तो cot A ṢĀात कीिजये

3/5

4/5

3/4

4/3

Correct Answer :­4/3 

37)

Question Stimulus :­

0

cosθ

1

tanθ

Correct Answer :­1 

38)

Question Stimulus :­

If the ratio between sin θ  and cos θ  is 1 : 2, then tan θ = ______ / यिद sin θ  और
cos θ  के बीच का अनपुात 1 : 2 ह,ै तो tan θ = ______

1/2

2

1/3

3

Correct Answer :­1/2 

39)

Question Stimulus :­



If sin A = 3/4, calculate tan A. / यिद sin A = 3/4, तो tan A प숝Āरकिलत कीिजय|े

Correct Answer :­  

40)

Question Stimulus :­

If 3cot A = 4,  = ________ / यिद 3cot A = 4, तो  = ________

­7/25

7/25

9/16

7/16

Correct Answer :­7/25 

41)

Question Stimulus :­

If  , then value of   is equal to _________ / यिद , तो 

 का मान बराबर होगा इसके_________



Correct Answer :­  

42)

Question Stimulus :­

If sin (A + B) = 1, cos (A + B) = 1, 0 o < A + B < 90o. and A  B, find A and B /
यिद sin (A + B) = 1, cos (A + B) = 1, 0 o < A + B < 90o और  A   B, तो A और B ṢĀात
कीिजए

A = 60o and B = 30o / A = 60o और B = 30o

A = 30o and B = 15o / A = 30o और B = 15o

A = 45o and B = 15o / A = 45o और B = 15o

A = 45o and B = 45o / A = 45o और B = 45o

Correct Answer :­A = 45o and B = 45o / A = 45o और B = 45o 

43)

Question Stimulus :­

Find    /    िनकािलये

Correct Answer :­  



44)

Question Stimulus :­

 If , find the value of x. / यिद   , तो x का मान िनकािलये

1

3

Correct Answer :­  

45)

Question Stimulus :­

Solve 5u + 4v ­ 4 = 0 and u ­ 20 = 12v / 5u + 4v ­ 4 = 0 और u ­ 20 = 12v हल
कीिजए

Correct Answer :­  

46)

Question Stimulus :­



If Tn = 4n2 ­ 1, find the value of n when Tn = 35 / यिद Tn = 4n2 ­ 1, तो n का मान िनकािलये
जब Tn = 35

­3

4

6

3

Correct Answer :­3 

47)

Question Stimulus :­

The angles of a triangle that are in A.P.: / िĀकोण के कोण जो A.P मᘮĀ ह阮Ā:

40, 50, 90

70, 70, 40

30, 90, 60

110, 40, 30

Correct Answer :­30, 90, 60 

48)

Question Stimulus :­

If 16, x, 25 are in G.P., then the value of x is / यिद 16, x, 25 G.P. मᘮĀ ह阮Ā, तो x का मान है

400

200

20

40

Correct Answer :­20 

49)

Question Stimulus :­



Simplify:  . / सरल कीिजए: 

1

0

2

3

Correct Answer :­1 

50)

Question Stimulus :­

If  , then find the value of   / यिद 
, तो  का मान िनकािलये

2xy

2yz

2zx

2xyz

Correct Answer :­2yz 


